6-5a Writing Linear Equations and Point-Slope Form

1 Wwill also be asked to write linear equations from information other than a picture of the graph.

To do this we will use both slope-intercept form (y =mx+#/) and [point-slope form.
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e When you are given the slope and the y - intercept you simply use y=mx+5b.

1. Write the equation of the line with a slope of -3 and a y - intercept of 6.
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2. Write the equation of the line with a slope of 5 and a y - intercept of -3.

e When you are given the slope and a point, you will use the point-slope form.

The point-slope form of an equation that passes through the point ( x;, y: ) and has a slope mis:

. y—y)=m(x—%)
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Example:
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3. Write the equation of a line with a slope of ~% and that passes through the point ( -6, 7).
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4. Write the equation of a line with a slope of -;-r—and that passes through the point ( -15, 9).
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5. Write and graph the equation of a line with a slope of 2 and that passes through the point ( 3, Z ).
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6}.(W1;{ite and graph the equation of a line with a slope of —% and that passes through the point
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Write the equation of thfr lines in the graphs below in point-slope form.
X 4 4y
N -\/__\II:YV)(X"‘f')
A
o
X &
- - & o
A
L b
N = Li o

W :'£(X-§5
RS




Practice 6-ba Name

1 What is the y - intercept of the line y+3=4(x+3)?
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2. Is the point (4, 11) on the line of the equation y-5=2(x-1)?

3. Write the equation in slope-intercept form ( y=mx+b ) of a line that passes through the point
(-3, -5) and has the same slope as y+2=7(x+3).
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4. Write the equation of a line with a slope of %and that passes through the pointm.
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5. Write the equation of the line in the graph below in point-slope form and slope-intercept form.
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